

Unit 8 - WorkSheet 3

Adding 9

Add **9** to these numbers.
Adding 9 is the same as **+10** then **-1**

$$\begin{array}{ll} 18 + 9 = & 18 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 41 + 9 = & 41 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 76 + 9 = & 76 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 62 + 9 = & 62 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 21 + 9 = & 21 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 86 + 9 = & 83 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 30 + 9 = & 30 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 52 + 9 = & 52 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 37 + 9 = & 37 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 74 + 9 = & 74 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 10 + 9 = & 10 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 55 + 9 = & 55 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 86 + 9 = & 86 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 23 + 9 = & 23 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 65 + 9 = & 65 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 44 + 9 = & 44 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 78 + 9 = & 78 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 39 + 9 = & 39 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 47 + 9 = & 47 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

$$\begin{array}{ll} 13 + 9 = & 13 + 10 = \underline{\quad\quad} \\ & \underline{\quad\quad} - 1 = \underline{\quad\quad} \end{array}$$

